Name:

Primary 5-a-day

20th June

8,900 + 52,800

Here are 6 tiles

The tiles are placed on the grid below so
that the column and row totals add up to

917 8|9 710 the numbers shown.
4 |1 3|8 2 |5 _
The two shaded tiles have been placed on
the grid for you.
8 | 4 512 2 |5 Place the other four tiles onto the grid.
total
317 4 | 8 116
9| 7|30
4 |1 |24
8 | 9 36
3 |8 28
total| 20 |27 |20 |16 | 16 | 19
A box contains 3kg of rice
Laura uses 75 grams of rice for each meal.
She uses all the rice.
3kg
How many meals did Laura make?
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